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Instructions for the candidates :

Candidates - must enter his /
her Question Booklgt Serial

No. (10 Digits) in the OMR
Answer Sheet,

Candidates are required to give
their answers in their own words
as far as practicable.

Figures in the right hand margin

: . indicate full marks.
gl fifee vt &1 o
4. Jot & =T EEFEF g2 & f(‘—,r(, 4. 15 minutes of extra time have
| been allotted for the candidates to
15 frie @1 Sl aag far ma read the questions carefully.
f - , |
5. 98 J99UF 3 @Uel § & — muz-gr 5 This question booklet is divided
. - into two sections — Section-A
v @ve-a/ and Section-B.
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O WIZ-I & 100
"wﬁﬁsowmm
ST ) g @ s
w%mﬁWMSoaﬁﬁ
¥ & g o ) e
T F o 1 o fraffe &1 we)
SR # I W ™ omm
SR 3% 4 k3 7 w8t e w5
et / w1 @ o7 & g ¥

et sit wow & e /
W Wt [ e / AT

FT OMR Iuv-Yiagsr & mair
FAT FAT & =yt wem gfvmy
T ghT ! '

7. m-a#soagaaﬂqmg

P & fat 15 gvat @1 sae
3T AFETd &1 vedw weT & frg

2 3% frifia &1 e i, 3@
Gvs 4 8 I Fta v 9 72

é_ﬁ##%ﬁ‘;wﬁwm .

ROV C o
5 S e &1

8. fedl 7#R & selagif® yaa w1 &

0T goiaar afid &1

a?ﬁﬁg-mg; 6. In

Section-A, there are

100 obfective type questions,

. out of which any 50 questions

are to be answered [First

. 50 answers will be evaluated in

case more than 50 questions are
answered. Each question carries
1 mark, For answering these
darken the circle with blue /
black ball pen against the
correct option on OMR Answer
sheet provided to you. Do not use
whitener / liquid / blade / nail
etc. on OMR-sheet, otherwise
the result will be treated
invatid. |

. In Section-B, there are 30 short

answer type questions, out of
which any 15 q;:estions are to -
be answered. Each question
carries 2 marks. Apart from

these, there are 8 long answer,

- type queéﬁoﬁé; out of which any
4 questions are to be

answered. Each question carries
5 marks. |
Use of any electronic appliances is

strictly prohibited.
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WYX - N / BECTION - A
/P W Objective Type Questions

vFY Weqr 1 8@ 1007% & uyT % urw ar fawey By no § frad @ oF a7

?rﬁﬁsowﬁmmmwwﬂﬁﬁmaﬂomﬁzw
fafew =¥ 50x1=50

Question Nos. 1 to 100 have Jour options, out of which only one is correct
Answer any 50 questions. You have to mark your selected option on the

OMR-Sheet. : S0~ ] =350

s

_/3/ qﬁ‘ﬂ’[@ﬁﬁ@a=bq+rﬁa=72,‘b=9.q=8,?ﬁr=

A} 1 (B) 2
c o : D) 3
@ (D)
If in division algorithm a=bg+r,a=72,b=9,gq=8,thenr=
A 1 | B) 2
© o D) 3
}/rro%ro (@, b)x o Fo (a b)=
(A) a+b ) (B) _~axb
a b
<€ 3 | o) B

H.CF.(aq b)xLCM.(a b)=

(A)  a+b ' (B) axb

a b
© % o 2
(L/3)110 A XSP-5510 Page3/
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.
3

V15 %

(A) TTI’FE deT (B) e wem
S amfoig wey D) 3/ FF

Ji5 is

(A intege |
) aninteger - (B)  arational number

(©)  an irrational number (D)  none of these

/ 124 % N PREvE | 2 F i 2

Ay 1 _ ( 2
) o (D) 4
| The exponent of 2 in the prime factorization of 124 is
w 1 ' ® 2
© o - (D) P

W@aﬁm—mﬁawmmmm ?

17
(A) . B 77
105 ®) 10~
o 15 | \@JA—
160

88

(L/3)110 A (XSP-5510]
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Whirh of

N AL
(A 105
© 1S

B
Dath

(A) 8000

L

(B)

(D)

(B)

(D)

2
C 2

) . o
he following fractions has terminating decimal éxpansinn J

o

3

16

(=]

A FEn FPEEA 1600 T FTH Hotlo 5 ¥ A WM F oo

1600

1605

The product of two numbers is 1600 and their H.C.F. is 5. Then LCM

of the numbers is

(A) 8000

(B) 1600

(C) 320 (D) 1605

// 36 9T 84 FT Ho Ho &
A) 14 / (B) 1 .
__}u( (D) 4 |

The HCF of 36 and 84 is

(A) 14 By 1

) 12 (D) 4
(L/3)110 A XSP-5510
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e

e
j/'ﬁm%ﬁaaﬂaﬁqawwﬁ%?
T(Al -é—x+1. i (B) s—xﬂﬁx
ﬁ/ﬁ—l- | o
" Which of the following is not a polynomial ?
(A) -é—x+1' B 6-x2+J3x
© ;—%—I '- (D) x3
}Aﬁ%ﬁﬁmﬂa@a plx)=x2-2x+5 % YIF o, p &, A c.-..-r-[}.ﬁ
@ -2 V(B/:z
© s o -5

| If o, B aljc'thc zeroes of a quadraﬁc polynomial p(x)= x2-2x+5,

then the value ﬁf a + B will be

A -2 (B) 2

| }’. i | o s
JA;E 2 -2x-3FYIF ¢ o
(A) ;3,1 | - (B} -3,-1"
(e 3,-1 | O 3,1 |
(L/3)110 A XSP-5510 Page 6 of 48
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The zerocs of the polynomial x? -2x -3 arc
A} =3, 1 B) -3,-I

©  3,-1 D) 3,1

/1{-'-' af a, p 59T 9§98 a + bx + ex? *Wﬁ,?ﬁlé+ﬂ|ﬁﬂﬁﬁfm

© 2 W

If P are the zeroes of the quadrahc polynomial a + bx + ex?, then
the value of o + P is

a -k B -2
© 2 o 2
120 i B 9g8 243 +3x2 —5x -2 % YHF o, 3K y B, @ opy @
it o
@ -1 _BY .1
© 2 o 3
If a,f and y are zeroes of a cubic polynonual 2x% +3x2 _5x - 2,
then valuc ufa[_’w is
(4) -1 (B) 1
© 2 o S
S
(L/3)110 A XSP-5510
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13 | _ 4 MT glx
~ R PIX) = q(x).g(x) 3 p(x) F TA " 4
D (t)
thl um &
///ﬂ
AT 2 B) 4
@ 1 o A

ec of glx)=
If p(x)=gq(x).g(x) and decgrec of plx)= =4 and degr

then degree of P {{x]) will be

(A) 2 . B) 4
© 1 o (D) none of.these
ﬂq@wwﬁﬁ%a}@smﬁm?ﬁ*ﬂmm
(A)  6g+2 | 6+ 3

€ 6q+d D) 6q

If g is a positive integer then a positive odd integer is of the form

(A)  6g+2 | (B) 6g+3
(C) 6g+ 4 | (D] 6q

15/ WgUg 3x3 -5x2-ilx-3FUA &

@ 2 \@/

G 1 | ‘(D) 0

(L/S)]. 10 A _ XSP-5510 . Page 8 of 48
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The degree of the polynomial 3x” - 5x2 - | lx-3 is

iy 2 B) 3
€ 1 (D) O
e %ﬂ'f?’aﬂﬁﬂ@fm%mqﬁ 1@ 1 & A o agas gm
({}J/‘/;'g -2x+1 B) x%-2x-1
b .
© - x?+2x+l D)  x?

X< +2x -1

-

If the zeroes of a quadratic polynomial are 1 and 1 then the quadratic
polynomial is

A)  x*-2x+1 (B)

x? -2x-1
©  x2+2x41 D)  x2+2x—1
ﬂwﬁ‘ﬁ@a % i difen e ¥ 2
@ 13- B) 23
32 D) 17

Which of the following is a composite number ?

A) 13 By 23 ‘

_ | D) 17
ﬁ%ﬁﬁaﬁq-quq -3 § 2

(&) (14,35) ' (18, 25)

© (31,93 @ (32,62

(L/3)110 A
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Which of 1} following is a pair of co-prime ?
(A (14, 35) B) (18,25)

(€ (31,93 (D) (32,62)

-

/
/‘3/ RS 3x2+éx+k$t{$?ﬁ$@%a‘wﬁ'ﬂ}kﬁmm

(A)_3 B) -3

1 S
(C) 3 (D) -

W)

If one zero of the p‘oljrnonﬁal 3x2 +8x + k be ‘the reciprocal of the

other, then the value of k will be

(a4 3 B) -3

|:::2.Jr:+.'.:'2y+c:2 =0 I

a) Agdmead (B) IS & Tl &
(€, FaEae D) T ¥ 53 78
(L/3)110 A XSP-5510 ~ Page 10 of 48
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a, =bl

1 _=f_1_' then thc system of cquations ax+by+ec =0,
a, b, ¢

2

a,X +byy +cy = 0 has

(A) a unique solution

(B) ‘no soluti'oﬁ

(C) infinite number of solutions

r

(D) none of these

(A) THEA

© dHEd | (D) g 7 =|E°f

Equation x +y =8 has how many solutions in the set of real
numbers ?

_(A}. One solution (B) Infinitely many solutions
{C) . Three solutioﬁs (D)

No solution

af§ 20x + 37y =103 T 37x + 29y = 95, 7

x=1,y=2 B) x=2,y=1

€ x=3,y=2 D) x=2,y=3

If 29x + 37y = 103 and 37x + 29y = 95, then

(A x=1,y=2 B)  x=2,y=1

€ x=3,y=2

D) x=2,y=3
(L/3)110 A

XSP-5510
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/ﬁm}qmﬁmﬂﬂﬁ@ﬁﬂﬂmmﬁﬁm%

&/WW%@T (B) 3t wver @
©)  Weer ) T E B T

The graph of equation in one degree always represents

(A)  astraight line - (B)  two straight lines

(C) parabola (D) none of these
/k%mqﬁﬂ?fﬂqaﬁﬁmﬁm kx-y=2 3N 6x-2y=3 &

Asda e ¥ 7 . |

(&) k=10 | B]  kz0

C) k=3 \[}»4:3

For what value of k, the system of equations kx-y=2 and

6x — 2‘y'r =3 has a unique solution ?
(A) k=10 ' (B) k=0

C) k=3 D) k=3

ﬁﬁmﬁﬁﬁmwmﬁ%mﬁ@mmﬁﬁ,aﬁﬁﬁ

e gt
@) . fak o= [ ﬁ%%ﬁﬂiﬁ
(€) A & D) T
(L/3)110 A ~ [XSP-5510 | Page 12 01;48
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If the graph of two linear equations in two variables are parallel

then the number of solutions is

lincs,
(A) only one
(B) -no'solution
(C)

infinite number of solutions

[D}. none of these _ _
Wﬁ@ﬁ#%ﬂﬁwwqﬁ% ? | _ )

A)  x2-5x+3=0 B) 2x2-32x+6=0
M—z&+8=0 D) 2x*-3=0

Which of the following is not a quadratic equation ?

A) x?-5x+3=0 " (B) 2x2—-3ﬁx+-6=0
 3x2-2Jx+8=0 . D) 2x*-3=0
/z/ﬁ{mﬂwﬁw bx? +ax+c—0$r‘"ﬁ€m$ﬁ=f%?
_ 4be (ﬁ) b® - 4ac
© b?-4ac | | '('E;l w3 W

Which is discriminant of the quadratic equation bx® +ax+¢c=0 ?

-
- &,

(A) a? - 4bc (B) b? - 4ac |
(C)- J b? - 4ac | (D) None of these
(L/3)110 A XSP-5510 Page 13 of 48
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/mﬁm ,a.:2+4x+1=0W&r&rﬁ{?‘:ﬁrr

\L&J/lz B 14

C) 20 (D) 8

The dj | o0 %2 =0 will be
The discriminant of the quadratic equation x* +4x* 1=0

(A) 12 (B) 14

If one root of the quadratic equation 2x° + ax+6=0 is 2, then the
value of a is

&) 7 . : (B) _ 7

L7 | |
c * o -

(=] EN|

% foet Wi 3 et 5 o 8, 4t 7 T

(A)  x%-3x+10=0 'Ms:;—1o=o

(C) x2+3x—lD=D_ (D) x%+3x+10=0

If the roots of a quadratic equation are S and -2, then the equation is

(A) x%-3x+10=0 B) x*-3x-10=0
€ x*+3x-10=0 D)  x*+3x+10=0
(L/3)110A XSP-5510 Page 14 of 48
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W"a.a' o W a6 vax+2-0 ¥ @ & @ (Lod] W

qE e

win

w -3 ®)

w_/u’i/—*’r D) 4

If o,p are the roots of quadratic equation 3x% +8x+2=0, then the

value of (-1—+l) is - o
. _ a B

3 2
(A) -8 , (B) 3

D) 4

aﬁﬁuﬁuﬁw M2+bx+c=QﬁﬁﬁW$Tqﬁ¥Eﬁ@ﬁ$T%ﬁT

i

nﬁfaﬁwﬁwﬁ?ﬂ?
(A) IR T WER (B, o Td. 3HA
(€ sl = (D) ﬁﬁﬂﬁbﬁﬂﬂ

Ifin a quadratic equaﬁon ax? +bx+c=0 , the value of discriminant

is greater than zero, then what is the nature of its roots ?

(A) Real and equal (B) Real and unequal
(C) Not real (D) none of these
(L/3)110 A XSP-5510 Page 15 of 48
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/“"‘fﬁ? % 0.6, 1.7, 28, 3.9, ... T T AW E
A) o1 \_[B*/“

(© 101 (D) 0-01

The common difference of the A.P. 06, 17, 2:8, 3:9, ... is

4) o1 | (B) 11
© o1 (D) 001
ﬁniz—-rr@aﬁmmmaﬁ%n .
2, 4,8, 16, 20, . \}r-/lo,—s, 2,2, .-
@ V3.V6,49,412, ... D) 02,022, 0-222, 02222, ...

Which of the following is in A.P. ?

(A)  2,4,8, 18, 20, ... B) -10,-6,-2 2
v3,/6,49,413, ... @) 02,022 0222, 02222, ..

qﬁ%,a,z%ﬁtmaﬁ%?ﬁqmqﬁ%a}ammm

(A 7 S
3 (B) 03
X .
< = a
L/3)110 A XSP-
[ / ] SP-5510 Page 16 of 48
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4

If 5 a, 2 are three consecutive terrhs of an A.P. then the value of a

will be
7
Wz (B) %
p)
@ 3 o
36 AR THHR G F a0 3n+5 ¥ W TWH TR 3w AW
@ 1 B) 2
"3 D) 5
If v term of an A.P. is 3n + S then its corhmon difference will be
(A) 1 B 2
C .3 D) 5
THRR HGl 5, 7,9, 11, ... B HHF-AIG 29F ?
@A) 3T B 12T
€ 11w D)’ 10d T
Whicﬁ term of the AP.5,7,9,11,..1s 297
(A) 13t term- (B) 12t term
(C) 11t term (D) 10th term
(L/3)110 A XSP-5510]
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Amwﬁﬁ?ﬁﬁ4®m&ma4%ﬂ?mmq

39

BRIl i
A) 16 B) 20
€ 24 (D) 28

If 7% term of an A.P. is 4 and its common difference is = 4, tl_len whg

is its first term ?
(A) 16 (B) 20

€ 24 - (D) 28

_ 32 ¥ at 39 iR 9 F 9 s

—Q4

qﬁﬁﬁﬂﬁiﬁ?a}aﬁﬁ a8
?FEIT‘eﬁTrri?.

%8 (B) -8

€ 4 D) -4

If in an A.P, Qg — a4 =32, what is the common differénce of the

AP.?

() 8 | (B) -8
€y 4 D) -4
40/ 1+2+43+4+..4n WE ¢
n+1l nin+1)
(A) 5 (B 5
: n{n+1)(n+2) nin-1)
© 5 (D) 5
(L/3)110 A ' XSP-5510| Page 18 of 48
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1+2+3+4+...+n isequal to

+1 n(n+1)
w5 B
rqn+nm;21 nin-1)

(C) ) D)y —S

woH 10 fowm R dematt 1 dmEe &

(A) 200 B) 100
(€. 110 (D) 210
The sum of first 10 odd natural numbers is
&) 200 (B) 100

. 110 . D 210
y- AR A7, 8) TR
C) - 1 T i (D) 1S T

The distance of the point A ( 7, 8 ) from the y-axis is

" (A) 7 units (B). 8 units

() _lumit (D) 15 units

ﬁﬁ{,;s,-s)ﬁqmﬁ%lﬁ% ?

A) W | B) g O
o T D) O UR
(L/3)110 A | XSP-5510 Page 19 of 48
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_5,-3)lie?

In which quadrant does the point (
quadfant

ond
(A} First quadrant L

uadrant
©  Third quadrant (D) Fourthd

. x 3% T gfigor &

o g@/y;o

(A)  x= :
€) x=y4 (D) ﬁﬁﬁﬁqﬁ
The equation of x-axis is |
A)  x=0 (B) | y=0
. ©) x=y (D) none of these

457" famg P[—ﬁ,apaﬂtﬁﬁgﬁﬁ%
(A) 8T . (B) 2;'? WV’*‘
C) 6T | 10 318
The distance of the point P(- 6, 8 ) from the oﬁg;in is
(A) gunits (B) 27 units .
(©"6 units (D) 10 units

467 fag a(7, 13) W o B(10,9)F S s gt &

\W (B) 5/5 THE

C) 10%E (D)  33FE

(L/3)110 A XSP-5510
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The distance between point A (7, 13) and point B{ 10,91 is
(A} 5 units (B) 5J5 units

(C) 10 units (D) 3 units

j’”/ﬁaﬁaﬁ‘““sﬂlﬁ B{?,-B}Hﬁvﬁsﬁaﬁ%@m%‘mhﬁaﬂ

e &
Ay (1,2) Mg )

€ (-1,-2) (D) (-1,2)

The coordinates. of the mid-point of the line segment joining the

points A(-5,4)and B(7,-8) are
a)  (1,2) | B (1,-2)

-1,-2) ' D) (-1,2)

x =15 G HET VI 1@ &t ?
(A)  x-3TE & FHIR y-378T & WA

€ I fag @ vl D) T U HR T

What type of straight line will be the graph of x= 15 ?
| (A) Parallel to x—axis (B) Parallel to y-axis

(C) Passing through origin (D)  None of these

(L/3)110 A ~ [XSP-5510 | Page 21 o 48
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-._../”:“j- r'-l';; (4-5, 7-6 ) ) aife ;f .
76
Ay a5 JD‘/

~-76
€ -as (D)

The ordinate of the point {45, 7°6) 18

(A) 45 B 76

) -a5 o) -76
50. XY= AoB Fore® W A (a,0), 0(0,0) T B (0, b) FT &ART &
(A)  ab g B LabF

(C)  Za®b? i g o) 1p? T FHTS

The area of triangle AOB with vertices A ( a, 0 ), O'( 0, 0) an¢

B(0, b)is
(A)  ab square unit (B) 5 absquare unit
(C) -é—agt:r2 square unit (D) %bg square unit

51. ﬁf&ﬁ?gaﬁm—s,syqésg-z,syﬁiﬁsﬁmﬁmgwmﬁ?g
P(-%,ct]%?-ﬁawnﬁﬁm

(A) -8 (B) 3
c -4 D) 4
(L/3)110 A XSP-5510 Page 22 of 48
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; i joini ints
! P(-f'd') 18 the mid-point of the line scgment JoIning the poin
A4(6,5)and B (=2, 3), then the value of a will be
(A) -8 | @ 3
o -4 o
/cosec{ggo ~0)=

(A) cos 6 \J,B)/ sec®
)@"/ sin® (D) tan®

tan48° . tan23° . tan42° . tan67° =

@ o Jer/l

D) 2
0
) _-2- | o -1
S cos1® . cos2°. cos3° ... cos180° =
@ -1 _— | 1
1
e 0 | o 5

. / sec0®= - _
0 B) 2

(A
© 1 - D) V2
(L/3)110 A - XSP-5510| Page 23 of 48
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/b{ it 0=45°, @ tan?0+

1 ﬂmﬂm !
sinzﬂ

3 (D) 4

1
lfB=45°,thenwhatisﬂlcvalueoftan29+ . 2 ?

sin
A 1 (B) 2
© 3 (D) 4
58. Frfvfaad s w2
(A)  sin30° = cos 30?'  (B)  sin30° = tan30°
(C) . sin30° = cos60° . (D)  sin30° = tan60°
: \irhich of 'the following is true ? .
(A)  sin30° = cos30° (B)  sin30° = tan30°
(€)' sin30° = cos60° (D) | sin30° = tan60°
59. AR «=p=60° A a cos(a—p) 1 AT T M
) o B) 1
€ 2 | D) -1
If @ =B =60°, then what is the véj;e of cos(a-p) ?
A} O B 1
< 2 . B -1
(L/3)110 A XSP-5510 Page 24 of 48
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60. (1 -sin? A)sec? A=

A) 0 B) 1

© 2 o) -1
61. Ll-tan?4s50

1+tan? 450

(A4)  tan9oe ® 1

(€)  sinase o o
62. I 2sin20 = 3 T 0 I AT &

&) 300 . ®

©  60° o - %00

If 2s5in28 = J§, then the value of 8 will be
(A)  30° (B) 45°

©  60° D) 90°
63. T A=65 W tanAxcota P TF AT
A 0 o B) 1
Q 2 | D -1

If A= 65°, then the value of tanA xcotA wili_bc

A) O B 1
€ 2 D) -1
(L/3)110 A XSP-5510 Page 25 of 48
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¥

R sec4A = cosec(A -10°) I{Ef 4A <90°, H} LA =

64,
(A) 20° ® 3
(C) - 40° - o) 507
If sec4A = cosec(A-10°) and 44 <90°, then £A =
(A} 20° B 00
(C)  40° ' (D) 50°
' 65.  sec?10°_ cot? 80° =
A) 1 T (B) O
3
(C) 7 (D) %
66. 'qJI:q' (tan® + cotf) =35, ar {tan29 + cot? 8)=
(A) - 27 | (B) 25
(C) 24 (D) 23
If (tan® + Cot8) =5, then (tan2g + cotgﬁj =
(A) 27 (B) 25
(C) 24 _ D) 23
67. Feicfad o frger V2 & TR B o
(A) tan60° (B) . cos4se
(C)  sin30° D) cosec 450
(L/3}110 A | XSP-5510
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(A tancoe

following has the value cqual to 2 7

(B)  cos45°
(©) sin30e (D) cosecc 45°
68.  sin®60° - cos2 60° =
G 3
4 B 7
1
© 3 O 3
69. AABCW LA=90°, AB=6 cm T AC= 2J3 cm, Al £B ¥ A =
(A) 45° {B] 30°
(€  60° D) T S T
In AABC, ZA=90°, AB=6 ¢cm and AC = 2J3 em. Then measure
of ZB =
(A)  45° B) 30°
(C) 60I° (D) none of these
70. af UF W R O H G 2/3 m ¥ T G A I H 60° & al
A) 43 m B) 6m
© 12m (D) 3m
(L/ 3) 110 A - |XSP-5510 Pag.e r
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: 3 m and angle
If the lt‘l'lp,ll'l of the shadow of o ['!Ulc s QI— gle r}ff;!-_,r

: ' ¢ will be
of sun is 60°, then the height of the pol

(A) 4/3 m (Bl om
(C) 12 m () 3m

1. uﬁ?ﬁwm%wwaﬁwzsﬁméﬁmmﬁ

T I g
(A) 25 :’54 (B) 5:8
(Ch 8:5 ‘ (D) V8:/5

If the ratio of areas of two similar triangles is 25 : 64, then the rat;

their corresponding sides is

(A)  25:64 B) 5:8
€ 8:s D) V8:45
72. AABC U 1 & f AB=6 cm, AC = 8 om HET AD, ZA W W%
dl BD: DC = |
(A) 3:4 (B) 9:16
C) 4:3 D) J3:2
Ixji AABC, it is given that AR = 6 cm, AC = 8 cm and AD st
bisector of ZA. Then BD: DC = E
A) 3:4 B) 9:16
(C) 4:3 D) V3.2

(L/3)110 A [XSP-5510] 3ol
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with centre at 0 apq ZAPB = gge

& PA T pp figg T Fag
€ W ZAPB < gge

r ‘£ Je ri
rr3 o9l U1

A 2poq .

(A) 40°

(B) s0°
(C) 80°

(D) 60°

If PA and N H wlgw
PB are I_angen[s drawn from an cxlcrnﬂl poinl Pto a CII"LlL

then ZPOA =
&4 (B) 50°
(C) 80° o) 60°
7a. T R R feaht g w i ¢ et Y, et forg & @C ST @l
Bree & -1 o e |
(A)  30° B) 45°
(C) 60° - D) 90°
‘What is the a.t.lgle between the tangent at any point of a circle and the
radius drawn from the point of contact ? |
(A)  30° | (B) 45°
(C) 60° ‘ (D) 90° |
7s. fodl o fog A € $ 0 TR g9 W 2 T 1@ AP T AQ T T,
- gff AP= 10 cm Tl AQ=
(A) 20cm (B) 10cm
(C) Scm | (D) 15cm
(L/3)110 A XSP-5510 | Page 29 of 48
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From an external point A, two tangents AP and AQ are drawn e

circle with centre at O. If AP = 10 em and then AQ=
(A) 20 cm (B) 10 cm

(C}]  Scm (D) 15 cm
76. 3R BC, ¥y oﬁqamwm%@b%%qﬁﬁlmﬁﬁﬁ
dl £BDC &1 17 g
(A)  90° (B) 180°
(C) 45° - O) THRFE T

If BCis a diameter of a circle with centre at QO and D is a ‘point on j
circumference then the value of ZBDC will be

(A)  9q° . - (B) 180°

(C) 45° - (D)  none of these

77. ﬁﬁﬁgﬁaﬁﬁmﬁﬁaﬁw%@ﬁﬁmaﬁrmqﬁﬁﬁ%

(A) St | ® %%
(C) i Y ©) w94 'aﬁé g
A line segment which intersects- a circle in two distinct points js
called
(A) chord (B) secant
' (C) tangent (D} none of these
(L/3)110 A ] XSP-5510 Page 30 of 48
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=\
I“';J

(B) 130°
(C) 90

(D)  60°

If a chord AB subtends an angle 50° at the centre of a circle, then the
angle between the tangents drawn on points A and Bis

&) 30°

®)  130°

€ 90 o 60°
79. T ABCH A Ac? - ap?, pc? ¥ 4 finget A R PO TR

B 2

B <A B) £B

) <£C D) THIAFETE

In triangle ABC, if AC? = AB? + BC?, then which angle of the

triangle is a right angle ?

(A) <A B) <B

(C) £C (D) None of these

: AD _4 -6 =

80. AABC ¥ DE | BC W WE e f® EE=?.21% AC= 66 cm, A9 AE

(A) 2.2 cm (B) 2-4 cm

€ 42cm (D) 2-lcm
L/3)110 A [XSP-5510 " Page 31 of 48
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i AC = 6-6 cm, then Al

AD 2.
In AABC, pr || BC such that B~ 7
0.4 cm
(A) 2:2cm (B)
2-1 cm
(€)  42c¢m (D)

5 ARl FT s
81. ﬂﬁ?ﬁmﬁfma‘iaﬂaﬁmg::;%ﬁm T

o

&) 2:3 B 4:9

C 3:2 . o) 2:9 .

The ratio of radii of two circles is 2 : 3. Then what 1s the ratio of G,

areas 7
& 2:3 B 4:9
€ 3:2 (D) 2:9
82. 42.cm b At 9w & 39 fouds 1 AR F1 EW SRE 55
T 30° § 2 |
(A)  515cm? (B) 416 cm?
(C) 462 cm? (D) 604 cm?2

What is the area of the sector of a circle with radius 42 cm and whoss

centre angle is 30° ?

(A) 515 Cm2 {B] 416 cm?2
2 ;
[C] 462 cm (D} 504 sz
L/3)110 A : )
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";rd
[

aﬁ%ﬂﬁqﬁﬁaﬁ% '
%%ﬁ,a’raﬂﬁ:mwwﬁmﬁﬂ
Qe

@) s
: : (B) 3sH

C) 44 T
[ | (D) 22 #

the radi ‘ : by it i
If us of a v..rheel is ?31% metre, then distance covered by it in

one revolution is .

(A) ~ Sm - (B) 35m

(C) 44 m (D) 29 m |

L

ga. 12 Ul A & TF et w1 e v 2
N f
(A) 144 B H (B) 144 x o QY '

(C) 288 T |t (D) 288 & |H

What is the volume of a sphere of diameter 12 cm ?

" (A) 144 cubiccm (B) 144 cubic cm
(C) '288r cubiccm . (D) 288 cubiccm

https://www.bihartopper.com



85. ﬁﬂﬁﬁﬁmﬁmW-Z:S%aﬂTﬁ T o,

5:2%) I el v AU ¢

A 1.1 : B 2:°5

(C) 5:9 o 2:3

- The ratio of radii of two cylinders is 2 : 5 and ratio of their heighy, is

S : 2. The ratio of their volumes is -
A 1:1 o B) 2:5

€ s5:2 (D) 2:3

86. TR O T S 2744 cm® ¥ A T T T e

(A) 14 cm (B) 12 cm

©  24em ©) #lem

| The volume of a cube is 2744 cm_a. Then one side of it is

A
C
cosS9° ¢t ° -
87. sin31° X c?:?ooo L2l T{F:[%'
(A L J3
V2 &5
(C) 1 D 1
o L
(L/3)110 A" XSP-5510]
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The value of S0859°  tangpe

#

A L
H‘JE

C) 1

sin31° m is

m B
o

88. TH WY ¥ i Wor Gorml 1 SEe FE: x, y W@ z € A S

AT BT
(A) - xyz -
©)  Jxyz

(B) 2xyz

D)  3J=xyz

If the areas of three adjacent faces of a cuboid are x, Y and z

respectively, then the volume of the cuboid is

(A)  xyz

€  Vxyz

(B) 2xyz

(D) 3,} xyz

.89. ﬂﬁww%mﬁﬁmr%@mﬁm heE @ UE

G &M
®) Sarh ® L’k
(©) %nrhz (D) %nrghz
(L/3)110 A XSP-5510 Page 35 of 48
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, ight is A, the
f (s heigh $ ey,
Il the radius of the base of a cone 18 7 and ! "

volume of (he conce is

1 .2

(A) %ﬂrh : ' (B) 3
I L’

(C) -e:i'trh2 (D) Eﬂr &

90. R o At andvitet @1 vl g eawer 1 BT 7

(A)  aR? L |)  2nR?

©  3xR? D) 4R
What is the total surface area of a hemisphere of radius R ?
(A)  =R2 | (B)  2nR?
(C) 3zR2 | (D)  4nR?
°l. 7,3,5,8,6,10,9, 129 qftgs & ¥ 2
A) 8 B) 6
€ 75 o 7
What is the median of 7, 3, 5, 8,6, 10,9, 12 ?
(A) 8 . ® 6
() 75 (D) 7

92.  WH 10 WH Wi wEAred H wrey &

A 110 B) 11
(C) 10 ' - (D) 100
(L/3)110 A XSP-5510] 0 T——
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The mean of fiegy | cve

N hatury) numbers ig

(A) 110
m  n
() 10
(D) 100
03. 37 M 45 H iR Ty &

A .

A 41 B 42

€ s (D) 40

The arithmetic mean of 37 and 45 is

(&) - 41 ' (B) 42

€ 51 . (D) 40

94. el SEwan GRoll % A 28 T wgeH 16 8, A FEH! T €0l

(A) 22 (B) 235
© 24 D) 245
If the mean. o‘f.a frequency distribution is 28 and mode is 16, then its
median is -

A 22 (B) 235
© 24 - (D) 245

95. Tr=fafaa 9 =1 F= vgfa Al Ao @ ¢ 2
(a) W= " gy HIEEE
(C), “Ee® (@) T e
(L/3)110 A XSP-5510 Page 37 of 48
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(endéney ?

' . ¥ 'lll l'"l
Which of the following is not a measure of c¢
«lian
(A)  Mean (B3) Media
. wiation
(€©) Mode D) grandard dev!

96. 7,8,9,7,8,9,9,3,s5,4 %l Tged ¢
@& 7. B 8
€ o9 (o) 4
The mode of 7, 8,9, 7, 8,9, 9, 3, S, 4 is
a 7 (B) 8

© 9 D) 4

97. fwdl g #Y wifaepar i sifusan A 8T

(A, O (B) 2
€ 1 | D) T A FIE T
The maximum value of probabiﬁty of an event is
@4 o - . B 2 '
© 1 ’ ) | (D)  none of these

08. ﬁﬁaﬁaﬁmﬁﬁwqﬁuﬁiaﬁﬁwwﬁrﬁ 2

@ 2 | B 4
@ 6 D) ¥} g
L/3)110 A XSP-5510 ,
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what 18 the numbe :
Wer of possible outcomes in tossing 2 coins ?

()

j B

B 4
©)

ch

(D)  None of these

0. TR PE)=0.07, & p(E/) TR &

(A) 0-93 B) 009

(€ 007 (D) 003
If P(E)=0-07, then P(E) is equal to

(A) 093 | . (B 009
©) 007 - (D) 003

100. NG IS B Wil @1 gl § ?

(A) (B) 1

1
2
c O (D)

1
3

What is the probability of an impossible event ?

(A) % B 1
1
© O o 3
(L/S] 110 A XSP-5510 Page 39 of 48
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WY - ¥ / SECTION - B
Y Iy uyq / Short Answer Type Questlons
U v aowagmmffﬂﬁdw 15 5771 & T 4
mm*%vzafxﬁufﬁam a0

1CSH ; ‘
Q1 fion Nos ngstmﬂs. Answer anyy

15 x2 =13

1 to 30 are Short Answer Type

15
@uestions. Each question carries 2 marks.
- Wﬁm@ﬁﬁv%mazszwlswmmw e

Usmg Euclid's division algorithm, find the HCF of 252 and 1540.
A7 ﬁm i fm L J_ R e %u :
o i
ove that -J._-E IS an irrational number.
13 N |
3 3125 1 XM R Wie § arer 7@, §d FY 2

Determi :
rmine whether the decimal expansion of is terminating or

_13
3125
ﬁ@mwp(x]maﬁﬁﬁvﬁaﬁwﬁﬂﬁﬁ
B i S TR

2

Find a quadrati 1
quadratic -pol:lrnonual p(x), the sum of whose zeroes are

ﬁ and product is -%

5. H?Wﬁwaﬁ%ﬂwﬁﬂﬁﬁw 2x+3y =11 % o1 frared

Find the solution of the equation 2x+3y =11
1

2

n
- the set of natural

(L/3)110 A XSP-5510]
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Qﬁqﬁm Eeoc e G|
) 2X+y=7 T 4y 3y+1-0ﬂwﬂ famg A @«
B o d - .

Solve ‘the system +1=0- using

of equations 2x + y=7 and 4x- 3y
substitution method.

m-%-mmﬁaﬂﬂumy:?qﬁmﬁmy:méa'atrclﬁﬁlﬂiﬁq
3 % w2 | I

Show that the system of equations 4x+6y =7 and 12x+18y =21

has infinitely many solutions.
WW% ~5x+3= oﬂ?qj—ﬁa»”r%"ﬁﬁlﬁaﬁl 2

Find the nature of the roots of the quadratic ecquation

4x? -Sx+3=0. :
/ﬂﬂq;mmaﬂamumw %t{amw 182 ¥, ?ﬁa@mm
& | | / - 2
If the sum of two natural numbers is 27 and their product is 182,

then find the numbers. *

13/ﬁa$mﬁumaﬁaﬂwzx2-sx+3=o%qﬁmaﬁ| 2
Find the roots of the quaﬂratic equation- 2x% -5x+3=0 using
formula

ﬂmaﬁg 13, 17, 21, ﬂ:zoanq?:sﬂﬁﬁl 2

Find the 20th term of the A.P. 9, 13, 17, 21, ...

(L/3)110 A XSP-5510 | - Page 41 of 48
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12 af fewll i A w1 5 A v o At % www 43 AT 79 ¥ A A e

LI g 2
Il 5th and 9th terms of an A.P. are 43 and 79 respectively, lind the
A.P.

13. 03K 50 & e v By dematl @ Amwer e

P

Find the sum of odd numbers lying between 0 and 50.
149, x 3R y ¥ & W=y wfia Ak R p(x y), AT A (1, 4) T

B(-1,2)® ¥ & 2

Find the relation between x and y if the point P ( x, y ) is equidistant
from the points A( 1,4 ) and B(-1,2).

15. AABCH AWM A(6,4) W B(-2,2) % a0 $5F G (3, 4) ¥
AABC % TR Wi ¢ & Frdwie Freret) 2

Two vertices.of a AABCare A(6,4) and B(-2, 2 } and its centroid G
is ( 3, 4 ). Find the coordinates of the third vertex C of AABC.

Fﬂi;ﬂﬁ%?ﬂg&(s,-zl,(s,uaﬁ?{7,—21@““1\??@%“1“:*

i &1 2

Prove that the points ( 5,-2), ( 6, 4 Jand (7, -2 ]_are vertices of an

isosceles triangle,
17. fag R & Fiwi® 7@ = = fagt p (-2, 3 ) @ Q(4,7)
et Yargs w4 - 7%aaqmﬁaaﬁmﬁamﬁ%|

Find the coordmatea of a point R which divides the line

2

segment
joining the points P(-2,3)and Q(4, 7 ) internally in the ratio 4 - 7.

(L/3)110 A . [XsP-5510
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18. hgaﬁﬁ‘s*gl-ﬁl‘!.?]&m C(7,-4)q T TR AABC FI HIHA
fmi | 2
Find the arca of AABC made by the pointa A (5,2 ), B(4.7) and
C(7.-4). |
19.  AABCH DE || BC ¥ 3R pE = 3 9, BC = 6 @l T AADE F1 &A%
15 2 & G aaBC F S A B 2
In AABC, DE " BC.IfDE=3cm, BC=6cm and the arca of AADE is
.15 cm?2, Find the-area of AABC.
20. fﬂ@ﬁﬁ:wﬁqﬁﬁz}waﬁa?qwﬁﬁaﬁﬂﬁﬁﬁa@m
- AR e & TR @ 1 | 2
Prove that the line segment joining the middle points of two sides of a
triangle is parallel to the third side. : |
21, R pa UE PR FF O T I W A W @I € T £APB =60° Tl
ZOAB &1 A §& &I . o2
If PA and PB are two tangents to a circle with centre at O and
ZAPB = 60°, then find the measure of ZOAB.
- 38inB+2cosB mﬁaﬂﬁl . )
22 af¢ 3tan6 =4, Sein0=2c056 " .
' 3sin@+2cos0 .
If 3tan0 = 4, then ﬁnd the value of 3sin0 —2cos0 "
23. fag #i fF cot12°cot38® cot52°§ot60“ cot78° = % 2
Prove that cot12°cot38°cot52°cot60°cot78° = .
J3
(L/3)110 A XSP-5510 . Page 43 of 48
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2
24, l1-cos0 .
o & (cosecOd - cot0)? = 1+cos8
2 _l-cos0
Prove that [cnsccﬂ -catd)” = m- )
2
2S. @qﬂﬁqﬁﬁtzzm%a’rMWﬂgﬂhﬁWm
The circumference of a circle is 22 cm. Find the arca of its onc
quadrant
26. TH 14@n”raémqwﬂmaﬂaqmaﬂ 11 35 & RFY T TG T
m%m%m%lﬂmaﬁﬁwﬁaﬁn | 2
The volumc of a right circular cylinder of 14 cm long is equal to the
volumc of a cube formed . on the side 11 cm. Find the rad].us of the
cylinder,
27, 3@1&%@3@@%@?{% u?rq"rﬁ?maﬁﬁﬁwﬁah’ﬂﬁm?ﬂé
S T2 ; -2
How many solid spheres of radius 1 cm can be made from a sohd
sphere of radius 8 cm ? https://w ww.bihartopper.com
28, ﬁﬁaﬁﬁwmmm%aﬁ A o o a5 i
=T g 2 2
Two coins are tossed simultaneously. Then what is the probability of
getting at most one head ? _
29. ké:mm#f%ﬁ—rqﬁmavsrﬁw X% —dkx 4+ k=0 ¥ T W ¥ -
2
For what values of k, quadratic equatmn x? —8kx 4 k = 0 has equal
roots ?
(L/3)110 A | XSP-5510 Page 44 of 48
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- 30. [“‘“‘*‘F@Hﬂzﬂwmmﬁ :
-3t
25-35 | 35-45 | 45-55 | 55.65 | 65-75
TRE 6 10 8 12 4
med the mean of the following data :
Class-interval | 25-35 | 35-45 | 4555 | 55-65 | 65-75
Frequency 6 10 8 12 4

3 39T we / Long Answer Type Questions

Wmm#asﬁﬁaﬂﬁqnﬁ%lﬁﬁﬁﬁrﬁ4nﬁi%wil
| mﬁ;%qsmﬁuiﬁatl

4x5=20

Question Nos. 31 to 38 are Long Answger-' Type questions. Answer any

4 questions. Each question carries 5 marks. 4x5=20

\_/’H/ E® T g x4y =7 W 2x -3y =9 TH TY AR &8 L
: - :
Draw the grabh of pair of linear equé.ticns x+y=7 and 2x-3y=9

and solve them.

Q) il el U WE F S F ATES 15 1 W F WA "o W
T WA T WA & 9 e ¥ 1 e I WX - 5

The sum of the digits of a two digit number is 15. The number
obtained by interchanging its digits exceeds the givcn' number by 9.
Find the number.

(L/3)110 A
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o= ® fr o Fee) g #) o o & afere o T T A A

_33.
3 3 Y W @ o o Fanforr @ e & 0
Prove that if a line is drawn parallel to one sidc of a triangle, the
other two sides are divided in the same ratio.
Ve .
347 Fﬂaﬂ'ﬂ'% (14 cot - cosecO)(1+ tan® + secO) = 2. °
Prove-th_at (1+cot® —cosecO)(1+tand + secd) = 2.
3s. - 6cmﬁ?qr$rqaa§ﬁtﬁ‘€rlqaikﬂﬁ# 10cmﬁ§ﬂwwﬁ
ﬁa’ﬁﬁwﬂwmﬁﬁl o - 5
Draw a circle of .radius 6 cm. From a point 10 cm away from its
centre construct a pair of tangents to the circle.
36, UF WP 24 Wil Fw ¥ 7 I9k R 0 B 6 T 31 ) Moo
T Tt & &9 3 gt mar § 1 et 5 o Freed 5
A cone is of height 24 ¢m and radius of its base is 6 cm. It is melted
form a sphere. Find the radius of the sphere,
37. @%Wﬁmwwmﬁﬁa%%ﬁﬁwwm
ﬂm%wﬁéaﬁaﬁ%m
. FAT B °
. W 9 % Wy 60° T IV T ¥
w1 frgen faq ?ﬂ“q'ﬂ 154
TEa @ha’t F o dam )
S T Y|
S
(L/3)110 A XSP-5510
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A ladder restg
On a vertical wall such that upper part of ladder just

touches th
€ top of the wall, The ladder makes an angle of 60° with

the grnund_. The lower part of the ladder

is at a distance 1-:5 m from

th i ‘ - |
¢ wall. Find the length of the ladder and height of the wall.

38. T H EIEF'I'GF EiGH Eﬁi' :
-3 0-20 | 20-40 | 40-60 | 60-80 | 80-100 | 100-120
TRERA | 10 | 35 | s2 | 61 38 29
Find the mode of the_folldwing d.i'stributiqn :
Class- | 450 | 20-40 | 40-60 | 60-80 | 80-100 | 100-120
intcrval _ _ :
Frequency | 10 | 35 52 61 38 | 29
47 of 48 .
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